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	 (iii)	 Changes in weather and climate can affect the balance between stores and flows 


in a drainage basin in the UK. Explain why.	 [6]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


Additional space for 1(c)(iii) only:


	


	


	


	


End of Question 1
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2. (b) (ii) Access to health care is a challenge facing people who live 
in remote rural areas of Wales.  Describe two other challenges. 
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 4     4 


Credit two statements with up to two marks 
for each awarded elaboration. 
(1+1) (1+1) 
(1+1+1) + 1 
 
Look for economic, or social challenges for 
initial points. Credit development points only 
if they take answer further. 


Lack of other services (1) eg banking/shops/post 
office, etc (1)  
public transport (1)  
few employment opportunities (1)  
low paid agricultural jobs (1)  
poverty/deprivation (1)  
poor phone/internet connections (1)  
isolation (1) leads to mental health issues (1)  
school closures (1) access to education (1) 
Ageing population / fewer younger (1) 
Weaker transport links (1) 
Higher/increasing house prices (1) 
Second homes (1) 
development of any point (max 2) 
 


 


2. (b) (iii) Explain why the increasing importance of urban areas is 
contributing to deprivation in rural areas of Wales. 
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Use the descriptors below, working upwards from the 
lowest band. 
 


Band Marks Descriptor 


3 5-6 


Good understanding and 
explanation which shows some 
sophistication. 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some understanding but 
response may lack depth and 
detail and only have partial 
explanation. 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements show limited 
understanding of links between 
urban and rural areas.  
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


  


As urban areas expand, and services are 
concentrated in them their sphere of 
influence becomes wider and more 
dominant and leads to greater isolation of 
rural areas. Most high paid jobs are in 
urban areas which means that younger 
people leave rural areas contributing to 
an ageing of the population in rural 
areas. Urban areas also have retailing 
and entertainment functions demanded 
by those who live and work in them which 
contributes to a lack of demand for them 
in rural areas causing them to close. 
Councils tend to invest less money in 
rural areas because they spend in towns 
so roads and housing can decline in 
quality. Urban dwellers often buy second 
homes in rural areas which are only lived 
in for part of the time and further reduces 
demand for services and inflate house 
prices for rural dwellers. Candidates may 
refer to the cycle of rural deprivation 
which results from the concentration of 
services into urban areas.  
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B3 Good understanding and detailed explanation showing some sophistication.
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A  range of issues elaborated - this is a 
very good answer.
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	 (ii)	 Access to health care is a challenge facing people who live in remote rural areas 


of Wales.
		  Describe two other challenges.	 [4]


		  1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


		  2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (iii)	 Explain why the increasing importance of urban areas is contributing to 
deprivation in rural areas of Wales.	 [6]
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2. (b) (ii) Access to health care is a challenge facing people who live 
in remote rural areas of Wales.  Describe two other challenges. 
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 4     4 


Credit two statements with up to two marks 
for each awarded elaboration. 
(1+1) (1+1) 
(1+1+1) + 1 
 
Look for economic, or social challenges for 
initial points. Credit development points only 
if they take answer further. 


Lack of other services (1) eg banking/shops/post 
office, etc (1)  
public transport (1)  
few employment opportunities (1)  
low paid agricultural jobs (1)  
poverty/deprivation (1)  
poor phone/internet connections (1)  
isolation (1) leads to mental health issues (1)  
school closures (1) access to education (1) 
Ageing population / fewer younger (1) 
Weaker transport links (1) 
Higher/increasing house prices (1) 
Second homes (1) 
development of any point (max 2) 
 


 


2. (b) (iii) Explain why the increasing importance of urban areas is 
contributing to deprivation in rural areas of Wales. 
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Use the descriptors below, working upwards from the 
lowest band. 
 


Band Marks Descriptor 


3 5-6 


Good understanding and 
explanation which shows some 
sophistication. 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some understanding but 
response may lack depth and 
detail and only have partial 
explanation. 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements show limited 
understanding of links between 
urban and rural areas.  
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


  


As urban areas expand, and services are 
concentrated in them their sphere of 
influence becomes wider and more 
dominant and leads to greater isolation of 
rural areas. Most high paid jobs are in 
urban areas which means that younger 
people leave rural areas contributing to 
an ageing of the population in rural 
areas. Urban areas also have retailing 
and entertainment functions demanded 
by those who live and work in them which 
contributes to a lack of demand for them 
in rural areas causing them to close. 
Councils tend to invest less money in 
rural areas because they spend in towns 
so roads and housing can decline in 
quality. Urban dwellers often buy second 
homes in rural areas which are only lived 
in for part of the time and further reduces 
demand for services and inflate house 
prices for rural dwellers. Candidates may 
refer to the cycle of rural deprivation 
which results from the concentration of 
services into urban areas.  
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	 (ii)	 Access to health care is a challenge facing people who live in remote rural areas 


of Wales.
		  Describe two other challenges.	 [4]


		  1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


		  2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (iii)	 Explain why the increasing importance of urban areas is contributing to 
deprivation in rural areas of Wales.	 [6]
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2. (c) Strategies that have been used to improve town centre high 
streets have been successful. To what extent do you agree? 
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Use the descriptors below, working upwards from the 
lowest band.  
 


Band Marks Descriptor 


4 7-8 


Balanced analysis and 
sophisticated judgement. A range 
of detailed and elaborated points 
are made both for and against the 
statement. Information in the 
resources is interpreted and 
analysed thoroughly and 
perceptively. Conclusion is justified 
using a sophisticated chain of 
reasoning. 
Meaning is unambiguous. The 
response has clear purpose, is 
fluent and logically structured. 


3 5-6 


Elaborated analysis and reasoned 
judgement. A range of elaborated 
points are made on one side of the 
argument in detail or both sides of 
the argument in less detail. 
Information in the resources is 
interpreted carefully and used to 
good effect to support the 
argument. A reasoned and valid 
conclusion is made and is based 
on the evidence. Meaning is clear. 
The response has purpose, is 
organised and well structured. 


2 3-4 


Valid but limited analysis and 
simple judgement. Valid points are 
made on one or both sides of the 
argument but are superficial. A few 
points are elaborated but lacking in 
sophistication. There is valid but 
limited interpretation of information 
in the resource. Meaning is 
generally clear. The response is 
structured. 


1 1-2 


Basic analysis and judgement. 
Valid but basic and simplistic points 
made with little or no elaboration. 
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


 


Candidates should apply their knowledge and 
understanding of strategies designed to 
improve town and city centres and halt their 
decline in the face of competition from out of 
town and/or other forms of retailing. They 
should consider a range of strategies which 
could be confined to the resource, such as 
pedestrianisation and improvements to the 
physical environment but they may consider 
strategies that go beyond the resources such 
as traffic calming, permitting street 
entertainment, improvements to parking, park 
and ride schemes or special events, like 
Christmas markets although these are not 
exclusive. They must consider potential 
advantages and disadvantages of different 
strategies and then consider how successful 
these have been in the light of continued 
pressures in the high street indicated by the 
other resources. They could consider the 
information in the graphs which suggests that 
the decline of high streets is continuing 
despite strategies being used. However, the 
graphs also indicate that many stores are 
opening as well as closing so the situation is 
not necessarily as simple as it may seem. 
Different strategies might be more suitable 
depending on the level of decline 
experienced and the type of town/city in 
which they are deployed. There should be an 
attempt to offer a conclusion which either 
suggests the most appropriate strategy or 
perhaps, a suggestion that in some 
circumstances, town and city centres are 
beyond saving. This might include 
consideration of other pressures like out of 
town or other forms of retailing, eg online 
which are contributing to the problems being 
faced by traditional types of retailing. It is also 
likely that candidates will refer to the impact 
of the covid-19 pandemic on many town 
centres over the past two years in 
accelerating decline in many retail functions 
and the closure of many local and national 
retailers. In some cases this has led to further 
decline but in others it is leading to new and 
sometimes innovative functional changes in 
many town centres. 
 At the higher levels, look for the ability to 
give a balanced viewpoint and eventually 
come to a reasoned judgement. The 
judgement could be stated at the start of the 
answer but failure to provide one should limit 
the response to band 2. 
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After awarding a level and mark for the geographical response, apply the performance 
descriptors for writing accurately that follow. Having decided on a band, award a second 
mark (out of 3). 
 
In applying these indicators, learners may only receive marks for responses that are in the 
context of the demands of the question; that is, where learners have made a genuine 
attempt to answer the question. 
 


Band Marks Performance descriptions 


High 3 


• Learners spell and punctuate with consistent accuracy 


• Learners use rules of grammar with effective control of meaning 
overall 


• Learners use a wide range of specialist terms as appropriate 


Intermediate 2 


• Learners spell and punctuate with considerable accuracy 


• Learners use rules of grammar with general control of meaning 
overall 


• Learners use a good range of specialist terms as appropriate 


Threshold 1 


• Learners spell and punctuate with reasonable accuracy 


• Learners use rules of grammar with some control of meaning and 
any errors do not significantly hinder meaning overall  


• Learners use a limited range of specialist terms as appropriate 


 0 


The learner writes nothing 
 
The learner’s response does not relate to the question.  The learner’s 
achievement in SPaG does not reach the threshold performance level, 
for example errors in spelling, punctuation and grammar severely 
hinder meaning 


 
End of Question 2 
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Elaborated analysis and reasoned judgement.
Valid conclusion - based on evidence.
Some but limited use of resources.
(Could've elaborated on high street strategies) 
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	 (c)	 Study the information in the Resource Box below.
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Redeveloped High Street


UK High Street Shop Closures and 
Openings 2013 – 2019


Out of Town Shopping Centre


High Street Shop Closures


		  Strategies that have been used to improve town centre high streets have been 
successful. To what extent do you agree?


		  Use the Resource Box to support your answer. You may refer to other examples you 
have studied.	 [8]


	 	 The accuracy of your writing will be assessed in your answer to this question.	 [3]


	


	


	


	


	


12


Source: Local Data Company







(3110U10-1) Turn over.


31
1


0
U


1
0


1
13


13
Examiner


only


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


Additional space for question 2(c) only:


	


	


	


	


End of Question 2
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3. (c) Volcanic lava flows present the most serious dangers to people and 
the economy. To what extent do you agree with this statement? Use the 
Resource Box to support your answer. You may also refer to examples 
you have studied. A
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Use the descriptors below, working upwards from the 
lowest band.  
 


Band Marks Descriptor 


4 7-8 


Balanced analysis and sophisticated 
judgement. A range of detailed and 
elaborated points are made both for and 
against the statement. Information in the 
resources and any implications are 
interpreted and analysed thoroughly and 
perceptively. Conclusion is justified using 
a sophisticated chain of reasoning. 
Meaning is unambiguous. The response 
has clear purpose, is fluent and logically 
structured. 


3 5-6 


Elaborated analysis and reasoned 
judgement. A range of elaborated points 
are made on one side of the argument in 
detail or both sides of the argument in 
less detail. Information in the resources is 
interpreted carefully and used to good 
effect to support the argument. A 
reasoned and valid conclusion is made 
and is based on the evidence. Meaning is 
clear. The response has purpose, is 
organised and well structured. 


2 3-4 


Valid but limited analysis and simple 
judgement. Valid points are made on one 
or both sides of the argument but are 
superficial. A few points are elaborated 
but lacking in sophistication. There is 
valid but limited interpretation of 
information in the resource. Conclusion is 
made but is simplistic and with limited 
justification. Meaning is generally clear. 
The response is structured. 


1 1-2 


Basic analysis and judgement. Valid but 
basic and simplistic points made with little 
or no elaboration. Basic conclusion is 
made but no justification. 
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is incorrect 
or wholly irrelevant. 


  


Candidates should apply their 
knowledge and understanding of 
volcanic hazards to form an opinion and 
a justified conclusion to the statement. 
There is no requirement for them to use 
additional material but this should be 
given credit where it enhances the 
argument and contributes to the 
viewpoint taken. On the one hand, 
volcanic lava flows are large scale 
hazards which cannot be prevented. 
They can cause significant damage to 
infrastructure and farmland as shown in 
the resources and, in the case of Hawaii, 
seriously affect the tourism economy if 
people choose not to visit because of the 
potential dangers to life. They may cite 
the large number of settlements shown 
in the map which could lie in the path of 
lava flows, thus putting people in danger. 
Candidates may also suggest that lava 
flows from more explosive volcanic 
eruptions in other parts of the world can 
and do endanger life. However, there is 
plenty of information in the resources to 
suggest that lava flows are less 
dangerous to life and that people can be 
evacuated away from them. The ability 
of science to understand volcanic 
activity, exemplified by the HVO enables 
evacuation plans to be formulated and 
ensures that people are effectively 
prepared to manage the hazard. 
Candidates may elaborate on this by 
referring to methods used by scientists 
to support this and add weight to the 
argument. The resource suggests that 
few people were affected by the 2018 
eruption and candidates may link this to 
the relative safety of this type of eruption 
compared to others. Candidates may 
conclude that the economic impact is 
invariably greater than the human 
impact. Credit the quality of the 
argument and the evidence presented 
towards reaching a valid conclusion. 


 
End of Question 3 
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Elaborated analysis of a range of elaborated points on both sides of the argument - in detail.
Resources interpreted to good effect.
However there is no conclusion. 
(With a conclusion, this could have been a Band 4 answer)
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	 (c)	 Study the information in the Resource Box below.


Resource Box – Volcanic Eruptions on Big Island, Hawaii


Kilauea Lava Flows


Big Island, Hawaii: Hazard Zones and Populated Areas


Fact File
•	 The Hawaiian Volcano Observatory (HVO) monitors hazards from active volcanoes from 100 


field stations with scientific instruments transmitting data 24 hours a day. The data is used to 
produce hazard maps to advise the population and emergency planners.


•	 The Kilauea volcano eruption in 2018 destroyed dozens of homes and burned hundreds of 
hectares of farmland, but the damage was confined to the Big Island. 2,000 people were 
evacuated in the 2018 eruption but there were no casualties.


•	 Tourism authorities reported that summer bookings for hotels on Big Island have fallen by 
almost 50 percent since the Kilauea volcano began spewing lava and toxic gases. Tourism 
generates US$166 million per year for all of the Hawaiian Islands.
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Examiner


only
	 	 Volcanic lava flows present the most serious dangers to people and the economy.
		  To what extent do you agree with this statement?


		  Use the Resource Box to support your answer. You may refer to other examples you 
have studied.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


Additional space for question 3(c) only:


	


	


	


	


End of Question 3


© WJEC CBAC Ltd.19






























1 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


© WJEC CBAC Ltd. 16 


4. (b) (i) Describe the areas of Bangladesh at risk from coastal 
flooding. 
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Award one mark for each valid point. 
 


South (1) Bay of Bengal (1) up to 200km inland 
(1) Barguna (1) Mouth of Ganges (1) Delta (1) 
Islands (1) 
 


 


4. (b) (ii) Describe one social and one economic factor that can 
increase the vulnerability of coastal communities to the impact of 
flooding. 
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Credit any valid economic and social factors 
which increase vulnerability with up to two 
marks for each awarded for elaboration (i.e. 2 + 
2 or 3+1). 
Ensure development points take the answer 
forward as creditworthy geographical 
knowledge. 
Ensure answer refers to vulnerability and not 
consequences of flooding 


Social: high population density at coast (1) 
poorly constructed homes (1) lack of effective 
public health resources (1) lack of education (1) 
development max 2 
 
Economic: poverty (1) reduces resilience (1) 
reliance on primary activity (1) like fishing (1) 
poor infrastructure (1) poor defences (1)  
development max 2 
 


 


4. (b) (iii) Explain why climate change is increasing the risk of flooding 
in coastal areas. 
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Use the descriptors below, working upwards 
from the lowest band. 
 


Band Marks Descriptor 


2 3-4 


Elaborated statements 
which show good 
understanding of 
relationship between 
climate change and 
increased flooding. 


1 1-2 


Simple statements 
showing some linkage 
between climate change 
and flooding. 


 0 
Award 0 marks if the 
answer is incorrect or 
wholly irrelevant. 


  


Climate change is causing warming of oceans 
which leads to melting glaciers and ice caps 
which is in turn, causing sea levels to rise. This 
makes coastal areas more vulnerable to floods 
when storms happen. Storms are becoming 
more frequent and powerful as there is greater 
heat energy in the oceans which fuel them and 
a warmer atmosphere is able to hold more 
moisture which increases rainfall amounts. 
Coastal areas are also vulnerable from 
increased river flooding which results from 
higher rainfall inland. Credit the quality of 
explanation and the ability of the candidate to 
make linkages between increased temperature 
and the risk of flooding at the coast. 
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Examiner


only
	 (i)	 Describe the areas of Bangladesh at risk from coastal flooding.	 [2]


	


	


	 (ii)	 Describe one social and one economic factor that can increase the vulnerability 
of coastal communities to the impact of flooding.	 [4]


		  Social  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


		  Economic  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (iii)	 Explain why climate change is increasing the risk of flooding in coastal areas.	 [4] 
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1. (a) (iv) The process of abrasion takes place in the Afon Dulais. 
Describe this process. 
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Credit one mark for each valid point. Reserve 
one mark for reference to load. 
 


Transported load/rocks/pebbles (1) to erode 
channel/river bed (1)  
 


 


1. (b) (i) The distance between Llanwrda and Llandovery railway 
stations is 12 cm on the map. Calculate the actual distance in 
kilometres. Show your working. 
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Credit only this answer for one mark. Award 
second mark for working. Award one mark for 
working if answer is incorrect if candidate 
demonstrates understanding of the concept. 
Use of any logical stepped working is 
acceptable. 
 


1cm = 50 000cm 
        = 500m 
        = 0.5km 
12cm = 6km 


 


1. (b) (ii) Suggest how the route of railway line has been affected by 
landforms. Use map evidence to help your answer. 
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Use the descriptors below, working upwards from the 
lowest band. 
 


Band Marks Descriptor 


2 2-3 


More sophisticated description 
which demonstrates ability to 
apply knowledge and 
understanding to draw detailed 
inference from the map. Map 
evidence is used to support good 
description. 


1 1 


Simple statement showing some 
but limited ability to interpret 
map. Map evidence is absent or 
ineffective. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


  


The railway line clearly follows the 
natural route of the River Tywi valley 
using the flat land afforded by the 
floodplain to provide easier building. 
Some candidates may observe that the 
railway is supported on embankments 
in places and they may infer that this is 
to protect it from potential flooding as it 
is built on the floodplain. Bridges have 
had to be constructed as the line runs 
very close to the river channel. 
Reference to any two of these points 
should be enough to enter band 2. Map 
evidence to support the description 
could take the form of place names, grid 
references, contour lines or other 
features from the key that are relevant 
to the railway line and landforms. 
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only
	 (b)	 (i)	 The scale of the map has a ratio of 1:50 000. 
		  The distance between Llanwrda and Llandovery railway stations is 12 cm on the  


map. Calculate the actual distance in kilometres. Show your working.	 [2]


Answer . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . kilometres


	 (ii)	 Suggest how the route of the railway line has been affected by landforms. Use 
map evidence to help your answer.	 [3]
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1. (b) (iii) Different processes change river landforms. Suggest why 
landforms in Box B have changed over time. Use evidence from the 
map to support your answer. 
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Use the descriptors below, working upwards from 
the lowest band. 
 


Band Marks Descriptor 


3 5-6 


Detailed application of 
knowledge and 
understanding which 
analyses landforms clearly 
linked to relevant processes 
in the box. Map evidence is 
used effectively to support 
the points made. 


2 3-4 


Shows some ability to apply 
knowledge and 
understanding of river 
landforms which broadly 
refers to box B on the map. 
Limited analysis of landforms 
which are not directly linked 
to process. The response 
has merit but lacks detail or 
depth. Some but limited use 
made of map information to 
support points. 


1 1-2 
Simple statements with only 
cursory reference to 
landforms from the map area. 


 0 
Award 0 marks if the answer 
is incorrect or wholly 
irrelevant. 


  


This question requires candidates to apply 
their knowledge and understanding of river 
processes and landforms to a distinct area on 
the map. Box B is dominated by the 
meandering River Tywi and candidates 
should refer to some (though not necessarily 
all) of the landforms here which include the 
floodplain, meanders with river cliffs and slip-
off slopes and some may even note the 
presence of small ox-bow lakes/meander 
scars. The emphasis on processes should 
lead them to consider deposition as a 
dominant process in this part of the valley 
which builds up deposits to form the slip-off 
slopes and thus, the floodplain in lower 
energy conditions. There may be reference to 
lateral erosion which obviously supports this 
process. Credit map evidence to support the 
analysis in the form of grid references, 
locations, contours or other features from the 
key which illustrate the points being made.  


 


1. (c) (i) Give the correct label for box A. Tick the correct answer from 
the box below. 
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Credit this response only, however indicated. 
No marks if more than one answer given. 
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	 (iii)	 Different processes change river landforms. 
		  Suggest why landforms in Box B have changed over time. Use evidence from the 


map to support your answer.	 [6]
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1. (c) (ii) Identify one flow and one store of water in a drainage basin. 
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Award one mark for each correct answer. 
Take care not to award two flows or two 
stores. 


Flow: Throughflow/infiltration/(surface) run-
off/overland flow (1) 
Store: Groundwater/soil moisture/lake/surface 
store/interception/river channel/vegetation (1) 
 


 


1. (c) (iii) Changes in weather and climate can affect the balance 
between stores and flows in a drainage basin in the UK. Explain why. 
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Use the descriptors below, working upwards from 
the lowest band.  


Band Marks Descriptor 


3 5-6 


Good understanding of the 
interrelationship between 
changes in weather and/or 
climate and the movement of 
water. Explanation is detailed 
and evidence based on a range 
of scenarios. 
Meaning is clear. Response has 
purpose, is organised and well 
structured. 


2 3-4 


Some understanding of 
relationship between weather 
and/or climate in a drainage 
basin but lacking in detail and 
explanation not complete or the 
answer is imbalanced. However, 
the answer has some merit. 
Meaning is generally clear. The 
response is structured. 


1 1-2 


Valid statements showing limited 
or basic understanding.  
Meaning may lack clarity in 
parts. Statements are linked by a 
basic structure. 


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


  


The question requires candidates to 
demonstrate understanding of the 
changing balance between stores and 
flows in relation to different conditions of 
weather. At the top band, candidates may 
link this to the likelihood of flooding taking 
place. Understanding is based on the 
balance between water placed in storage 
which moves slowly through the system 
and water which flows more quickly into 
rivers to lead to flooding. Heavy rainfall is 
likely to compact soil and saturate the 
ground more quickly leading to increased 
surface run-off while lighter rainfall is more 
likely to infiltrate and enter storage. Snow 
and ice is stored water which could flow 
quickly rather than infiltrate once melting 
occurs. Seasonal differences may be 
referred to where warm and dry conditions 
in summer lead to more evaporation and 
helps create more storage capacity whilst 
wetter conditions in winter lead to 
saturation of soil which fills up the soil and 
groundwater stores encouraging greater 
surface run-off. There are other scenarios 
that could be used to illustrate the balance 
but credit should be given for the quality of 
understanding and explanation of the 
balance between the stores and flows in 
response to changing climate and weather 
conditions. 


 
End of Question 1 


 


 5 6 9 8  28 












allena

Text Box

B3 - 5 marks
Good understanding.
Detailed explanation based on a range of scenarios.



allena

Text Box

5












 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








12 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q12 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








13 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q13 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








13 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q13 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








13 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q13 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








13 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q13 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


4 








evanpa

Typewritten Text

EXAMPLE 1












evanpa

Typewritten Text

EXAMPLE 4












evanpa

Typewritten Text

EXAMPLE 6












 


 


 


 


 


 


 


 


 


 


 


  


4 








 


© WJEC CBAC Ltd. 4 


SECTION A (Core Themes) 
 


Core Theme 1, Question 1 
 
 


1. (a) (i) In which of the following grid squares do the rivers Afon 
Dulais and Afon Tywi meet? Tick the correct answer in the box below. 


A
O


1
.1


 


A
O


1
.2


 


A
O


2
 


A
O


3
 


A
c
c
u
ra


c
y
 


T
o


ta
l 


    1  1 


Credit this response only, however indicated. 
No marks if more than one answer given. 
 


7131 


 


1. (a) (ii) Give the direction of flow of the Afon Dulais. 
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Credit this response only, however indicated. 
No marks if more than one answer given. 
 


South-east /SE (1)  
 
Allow SSE 
 


 


1. (a) (iii) Describe the relief (shape of the land) in Box A shown on 
the map. Use map evidence. 
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Use the descriptors below, working upwards from the 
lowest band. 
 


Band Marks Descriptor 


2 3-4 


More sophisticated description with 
changing pattern communicated 
well. Use of map evidence supports 
description.  


1 1-2 


Simple descriptive statements 
communicated in a basic way with 
little linkage between points. Limited 
map evidence to support points 
made.  


 0 
Award 0 marks if the answer is 
incorrect or wholly irrelevant. 


  


Candidates should show understanding 
of contour patterns and how they relate 
to the shape of the valley.  
At the top level there must be map 
evidence in the form of height, 
reference to spacing or value of 
contours, or a grid reference. There 
could also be recognition of the valley 
as V shaped. They may also recognise 
differences such as the gentler slopes 
as the river nears the confluence with 
the River Tywi. This is not essential, but 
inclusion would imply sophisticated 
description. Descriptive comments will 
include higher and steep with contours 
close together. Note also the 
candidate’s ability to communicate their 
observations of map evidence as 
described in the AO3 descriptor. 
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Examiner
only


SECTION A – CORE THEMES


Answer all questions in this section.


THEME 1: Landscapes and Physical Processes


1.	 Study the OS map extract of the area around Llandovery in the Resource Folder.


	 (a)	 (i)	 In which of the following grid squares do the rivers Afon Dulais and Afon Tywi 
meet? Tick (√) the correct answer in the box below.	 [1]


© WJEC CBAC Ltd.


Grid Square Tick (√)


7132


3172


7131


	 (ii)	 Give the direction of flow of the Afon Dulais.	 [1]


	


	 (iii)	 Describe the relief (shape of the land) in Box A shown on the map. Use map 
evidence.	 [4]


	


	


	


	


	


	


	 (iv)	 The process of abrasion takes place in the Afon Dulais. Describe this process.	 [2] 
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OS Map Extract Sheet 146 Lampeter & Llandovery
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are not shown on maps of ScotlandFiring and Test Ranges in the area.


Danger!  Observe warning notices.


County, Unitary Authority, Metropolitan District
or London Borough


Public rights of way shown on this map have been
taken from local authority definitive maps and later
amendments.
The symbols show the defined route so far as the
scale of the mapping will allow.


Rights of way are liable to change and may not be
clearly defined on the ground.  Please check with
the relevant local authority for the latest
information. Rights of way are not shown on maps
in Scotland.
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Where two heights are shown, the first is
the height of the natural ground in the
location of the triangulation pillar, and the
second (in brackets) to a separate point
which is the natural summit.
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(with date)
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Visible earthwork
Site of antiquity


Selected places of tourist interest


Golf course or links
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Viewpoint 360°
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4. (c) Local councils in the UK should protect all communities from 
coastal flooding to stop them from disappearing. To what extent do you 
agree with this statement? 
Use the Resource Box to support your answer. You may also refer to 
examples you have studied. A
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Use the descriptors below, working upwards from the lowest 
band. 
 


Band Marks Descriptor 


4 7-8 


Balanced analysis and sophisticated 
judgement. A range of detailed and 
elaborated points are made both for and 
against the statement. Information in the 
resources and any implications are 
interpreted and analysed thoroughly and 
perceptively. Conclusion is justified using 
a sophisticated chain of reasoning. 
Meaning is unambiguous. The response 
has clear purpose, is fluent and logically 
structured. 


3 5-6 


Elaborated analysis and reasoned 
judgement. A range of elaborated points 
are made on one side of the argument in 
detail or both sides of the argument in 
less detail. Information in the resources is 
interpreted carefully and used to good 
effect to support the argument. A 
reasoned and valid conclusion is made 
and is based on the evidence. Meaning is 
clear. The response has purpose, is 
organised and well structured. 


2 3-4 


Valid but limited analysis and simple 
judgement. Valid points are made on one 
or both sides of the argument but are 
superficial. A few points are elaborated 
but lacking in sophistication. There is 
valid but limited interpretation of 
information in the resource. Conclusion is 
made but is simplistic and with limited 
justification. Meaning is generally clear. 
The response is structured. 


1 1-2 


Basic analysis and judgement. Valid but 
basic and simplistic points made with little 
or no elaboration. Basic conclusion is 
made but no justification. 
Meaning may lack clarity in parts. 
Statements are linked by a basic 
structure. 


 0 
Award 0 marks if the answer is incorrect 
or wholly irrelevant. 


  


Candidates should apply their 
knowledge and understanding of 
coastal flooding in the UK to form an 
opinion and a justified conclusion to 
the statement. There is no requirement 
for them to use additional material but 
this should be given credit where it 
enhances the argument and 
contributes to the viewpoint taken. On 
the one hand, candidates may argue 
that councils have a moral obligation to 
maintain and sustain communities by 
investing in engineering solutions to 
increased flood risk to protect them. 
They may quote the costs of displacing 
people and the economic arguments 
around tourism in coastal areas like 
Fairbourne as evidence for this 
viewpoint as well as the social 
arguments around splitting 
communities and families who have 
lived in these areas for a long time. On 
the other hand, they may argue that 
the cost of protection, in the face of 
climate change and increased storms 
and rising sea levels is unsustainable 
and that a managed retreat strategy is 
the only option. They may refer to 
cost-benefit analysis as a further 
justification for this. 
Credit the quality of the argument and 
the evidence presented towards 
reaching a valid conclusion. 


 
End of Question 4 
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	 (c)	 Study the information in the Resource Box below.


Fact File
•	 Councils must decide whether to maintain or build new coastal defences through their 


Shoreline Management Plan (SMP). The SMP for Fairbourne has recommended that the 
village will enter managed retreat in 2025. The council will then stop maintaining the sea 
defences.


•	 The council argues that it is unsafe and unsustainable to continue to protect low lying 
communities in the face of rising sea levels.


•	 There are 421 homes with over 850 residents living in Fairbourne. House prices have fallen 
by more than 40%. Many of the residents are elderly and retired.


•	 Villagers are angry that their village will be lost to the sea and they will have to move away. 
They have been described as ‘Britain’s First Climate Refugees’.


•	 Fairbourne’s attractive 2-mile-long Blue Flag beach has attracted many tourists every year 
since Victorian times. There are several businesses that support locals and visitors.


The land is very flat, only just above sea level and at risk of flooding.


Storm waves at Fairbourne


Resource Box – Fairbourne on the west coast of Wales
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Examiner


only
		  Local councils in the UK should protect all communities from coastal flooding to stop 


them from disappearing.
		  To what extent do you agree with this statement?


		  Use the Resource Box to support your answer. You may refer to other examples you 
have studied.	 [8]
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Examiner
onlyAdditional space for question 4(c) only:


	


	


	


	


End of Question 4
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